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Vertex: _________

Axis/symm: _________

y-intercept:________

roots:__________
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Vertex: _________

Axis of symm: _________

y-intercept:________

roots:__________
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Vertex: _________

Axis/symm: _________

y-intercept:________
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Vertex: _________

Axis/symm: _________

y-intercept:________

roots:__________
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3A. Vertex: _________

Axis of symm: _________

y-intercept:________

roots:__________
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Solution: ___________
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Solution: ___________
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3B. Vertex: _________

Axis of symm: _________

y-intercept:________

roots:__________

A)
[image: image7.wmf]()5

fx

³
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Solution: ___________
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Axis of symm: _________

y-intercept:________
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Solution: ___________
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Solution: ___________
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y-intercept:________
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Solution: ___________
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Solution: ___________
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Solution: ___________
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Solution: ___________
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Solution: ___________
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